‘ - .

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
,Z]_r—_.;,/ : www.EquipmentAnchorage.com
D e PENTAIR oes. J. ROBERSON SHEET

JosnNo. T1-1461 4
‘4FFDC)ErT'FLA<:’( DATE 6/24/15 oF 1() SHEETS
SEISMIC SUPPORTS & ATTACHMENTS CONCRETE SLAB

CG.NWT. = 1245 LB

(INCLUDES CONTENTS) ce.
- BRACKET PROVIDED BY PENTAIR

(ASTM AIOII €S TYPE B, Fy=30 KSI MIN)
(SEE SHEET 10 OF 10)
USE 4- 5/8"0 HILTI KB-TZ
EXPANSION ANCHORS
) (MIN. EMBED. (ha) = SEE SCHED)
g W/ STANDARD WASHERS
NORMAL WEIGHT CONCRETE
/> (F'e = 3000 PSI MIN)
M 4 g 41
Vo Vo Vo Vo
=0
E ) UC_)\_\ T T T T
S|
2 FRONT ELEVATION SIDE ELEVATION
ANCHORS
MAX Sps |  TYPE DAM |EFF emBED| Q1Y Toe | T | W DETAL
150 | HLTIKB-TZ| 5/8" 3105" 4 5 2208 | 570 |SHEET 5 OF 10
220 | HLTIKB-TZ| 578" g 4 6" 3382 | 836 |SHEET 6 OF 10
* VALUES INCLUDE Qu
NOTES:

1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASC
STRENGTH DESIGN IS USED. (@p = 25, Ip = 15, Rp = 60, Qo= 25,z/h = 0)

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE
MAXIMUM WEIGHT SHOWN,

38 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE
SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES
SHOWN IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENT A ’R oes. J. ROBERSON SHEET
Josno. 11-1461 5
4-P OST RACK DATE 6/24/15 1 0
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS MAX Sps < |50 CONCRETE SLAB
20.15"
225" 22.205" 225"
EQ EQ
USE 4- 5/8"¢ HILTI KB-TZ
EXPANSION ANCHORS
= (MIN. EMBED. (he) = 3.25")
Q W/ STANDARD WASHERS

ﬂ \é CGC.NT. = 13245 1B

| —— (INCLUDES CONTENTS)
(7 = 42/

39.617"
22.50"
EQ
I

EQ

85"

PLAN AT BASE

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 150, @p = 25, Ip = 15, Rp = 60, Qo = 25, z/h = 0)

WEIGHT = 1348 LB

HORIZONTAL FORCE (Emh) = 169Wp = 2278 LB

VERTICAL FORCE (B4 = 030Wp = 404 LB BOLT SPECS: 5/8" HILTI KB-TZ (het= 3125")

¢T= 075¢Nn = 2508 LB/BOLT  (TENSION)

BOLT FORCES: oV= ¢Vh = 4940 [B/BOLT  (SHEAR)
TENSION (T)
| 2o78#42) 2078#(42)  1348#(09) - 404% _
T = [2 BoLTS (3137") X (O'S)J * 2 BoLTS (245" 4 BOLTS = 2208 LB/BOLT (MAX)
( HORIZ - SIDE TO SDE ) ( HORIZ. - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
_ 2078#
Vumamum = Toos =90 LB/BOLT (MAX)
UNITY_CHECK:

) ) (8] (g0 o




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENT A ’R oes. J. ROBERSON SHEET
Josno. 11-1461 6
4-P OST RACK DATE 6/24/15 oF 1 0 SHEETS
SEISMIC SUPPORTS & ATTACHMENTS 150 < MAX Sps € 220 CONCRETE SLAB
20.15"
225" 22.205" 225"
EQ EQ
USE 4- 5/6"¢ HILTI KB-TZ
N EXPANSION ANCHORS
5 (MIN. EMBED. (he) = 4')
Q W/ STANDARD WASHERS

ﬂ \é CGC.NT. = 13245 1B

| —— (INCLUDES CONTENTS)
(7 = 42/

39.617"
22.50"
EQ
I

EQ

85"

PLAN AT BASE

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, @p = 25, Ip = 15, Rp = 60, Qo = 25, /h = ()

WEIGHT = 1348 LB

HORIZONTAL FORCE (Emh) = 248Wp = 3343 LB

VERTICAL FORCE (B = 044Wp = 593 LB BOLT SPECS: 5/8"0 HILTI KB-TZ (het= 4")

oT= 0756Nn = 3632 LB/BOLT  (TENSION)

BOLT FORCES oV= ¢Vh = 4940 LB/BOLT  (SHEAR)
TENSION (T)
[ 3343429 3343#(42)  1348#(09) - 53# _
Tomwann = [2 soLTs (3137 (0'3)} " 2 souts (245) 4 BoLTS = 3382 LB/BOLT (ax)
( HORIZ - SIDE TO SDE ) ( HORIZ. - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
_ 33434
VM = T = 86 LB/BOLT (MAX)
UNITY_CHECK:

( Eﬁ >+< \q/>vU ) <12 (%%(%%) -10<12 .. OK




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENTAIR oes J. ROBERSON “755'
wBNo.  T-1461
4-POST RACK 26| 10 s
SEISMIC SUPPORTS ¢ ATTACHMENTS CONCRETE 5L AB ON METAL DECK

CE.NT. = 1245 1B
(INCLUDES CONTENTS) Ce.

— BRACKET PROVIDED BY PENTAIR

(ASTM AIOII €5 TYPE B, Fy=30 KSI MIN)
(SEE SHEET 10 OF 10)
USE 4- 5/8"¢ (A36) THREADED RODS
THRU FLOOR W/ STANDARD WASHERS
NAW. OR SAND L.

[ CONC. (3000 P3| MIN,)

i 4 l |
>\ >\ \ \

42"

REFER TO SHEET 4 OF 10
l S~ FOR ADDITIONAL DETAILS l l
T T
T Tu Tu = 2198 LB/BOLT (MAX) ’ !
FRONT ELEVATION Vu = 556 LB/BOLT (MAX) SIDE ELEVATION

NOTES: (VALUES DO NOT INCLUDE Q9

1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED. (Sps = 220, @p = 25, Ip = 15, Rp = 60, Qo= 25 zh <)

HORIZONTAL FORCE (En) = 165 Wp
HORIZONTAL FORGCE (Emh) = 413 Wp (FOR CONCRETE ANCHORAGE)
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE
MAXIMUM WEIGHT SHOWN,

3, STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE
SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN
IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENTAIR oes J. ROBERSON S§'
wBNo.  T-1461
4-POST RACK 26| 10 s
SEISMIC SUPPORTS ¢ ATTACHMENTS CONCRETE 5L AB ON METAL DECK
26.15"
2.25" 22.25" 225"
EQ EQ

USE 4- 5/8"¢ (A36) THREADED RODS
/ THRU FLOOR W/ STANDARD WASHERS

ﬂ \i CGC.NT. = 13245 1B

| —— (INCLUDES CONTENTS)
(7 = 42/

&5

39.617"
22.50"
EQ
I

EQ

85"

PLAN AT BASE

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.

STRENGTH DESIGN IS USED (Sps = 220, @p = 25,Ip = 15, Rp = 60, Qo = 25, zh <)
WEIGHT = 1348 LB
HORIZONTAL FORCE (En) = 165Wp = 2224 LB

HORIZONTAL FORCE (Emy) = 413Wp = 5567 LB BOLT SPECS: 5/8" (A36) THREADED ROD
VERTICAL FORCE (Ev = 044Wp = 593 LB ¢T= 10016 LB/BOLT  (TENSION)
BOLT FORCES: V= 5342 LB/BOLT  (SHEAR)

TENSION (T)

Tu MU= [w X (0.3)} L _2204#42)  1348#09) - 593% _ o106\ el T (MAX)

2 BoLTs (3137") 2 BoLTs (245" 4 BOLTS
( HORLZ. - SDE TO SDE ) { HORZ - FRONT TO BACK ) (WEIGHT(OS) - Ev)
SHEAR (V)

Vo MM = % - 556 LB/BOLT (MAX) (PER AISC J37, LESS THAN 20% STRESS)




= /4] @E’ EQUIPMENT ANCHORAGE & SEISWIC ENGINEERING

www.EquipmentAnchorage.com

PENT A ’ R oes. J. ROBERSON SHEET
Josno. 11-1461 9
4'POST RACK DATE 6/24/15 1 O
OF SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS <Y > CONCRETE DETAIL
; = =
24" MIN = =
EDGE DISTANCE | Ty T

P NI, OR SAND LW,
v CONC. (3000 P3| MIN,)

]
S
= EQUIPMEN
= QUIPMENT
bl v
= O
tlz g[° Ji
Sk I m]
VU |
B R—
4 I" MAX
= % Vu strur MIN 20 GA OFFSET
= - STEEL W-DECK (TYP)
USE 3/8"¢ HILTI KB-TZ 'T::F'DN . M'lN . FLUTE
EXPANSION ANCHORS ¢
(MIN. EMBED. (het) = 27) HEX NUT TOP & BOT OF FLANGE
(2 ANCHORS MIN PER STRUT) (TYP) AT CONDITIONS WHERE NUT ELUTE DETAIL
CANNOT BE PROVIDED AT TOP SIDE
L3 X3 X 1/4" X 5" MIN OF STRUT, PROVIDE TAPPED HOLE
(A36) AT EACH ANCHOR THROUGH STRUT FLANGE.

MIN STEEL DECK REQUIREMENTS AND STRUT DETAIL

DEMANDS: (BASED ON UPPER FLOOR)
Tu= 2198 LB/BOLT

Vu = 656 LB/BOLT
VusTRUT = 0.7Vu = 0.7(6564#) = 389 LB/STRUT

CONCRETE ANCHORS AT STRUT BOLT SPEC: 3/8"¢ HILTI KB-TZ (het= 2" MIN)
¢V= 938 LB/BOLT

VusTRUT = Qo Vu STRUT = 25(3894#) = 973 LB/STRUT

USE 2 BOLTS MIN
ViBoLT = 973#/(2 BOLTS) = 487 LB/BOLT

STRUT DESIGN (L3 X 3 X 1/4": S = 0569 ir®, A36)

Mu STRUT = 2198T#<14) = 7693"#
b -8 ¢ osa/-E - 054 /290 53
t 025 Fy %
CoMn =15 Fy Sc
- 15(36000)(08 X 0569)
- D4580"4

oMn = 09Mn = 09(24580") = 22123'% > 7693'%.°. OK




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

PENT A ’ R pes. J. ROBERSON SHEET
Josno. 11-1461 1 O
DATE 6/24/15 oF 1 O SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS BRACKET PROVIDED BY PENTAIR BASE DETAIL
(ASTM AlOIl €5 TYPE B, Fg=30 KS| MIN)
4'X4"X|/4" THK (A36) MOUNTING PLATE
(PROVIDED BY PENTAIR) —\
(4 PLACES)
II_; ;A | I_IL _:J |
| 22.25" | ! 22.06" !
ELEVATION SIDE
26.15"
225" 225" 225"

)
Q N
] B
WELD WASHER
/8l/1/2\ (TYP)
S
SN (4)- 1I/16" HOLES

TP

N1

178

\

TP

P e /&

-
—
>
=

LOADS TO BASE: (BASED ON UPPER FLOOR DEMANDS)
Tu= 2198 LB/BOLT (NON-PRYING)
Vu = 556 LB/BOLT

CERT-00029 A



E1125844
Typewritten Text
CERT-00029 A


	4
	5
	6
	7
	8
	9
	10



